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HIT -1/ PART - |

| EGREE FATETeTE/ CHILD DEVELOPMENT AND PEDAGOGY
(R : Freififeen vt & wwe 3% @ i wd af e g
Direciion : Answer the following questions by selecting the most apprapriate option.,

1. PR § @ fnoa aufts st 1. Out of the following which is mot the
? type ot group non-verbal intelli test |
T viem 7 77 £ bal intelligence test 7
(1) il St Tl (1) Ammy Beta test
(2) anf s s (2) Ammy Alpha test
(3) T ol (3) Chicago test
) W O A (4) Revence progressive matrices
2. IO AU W OEE 8 2. ‘What is the age group of late childhood
stage 7
() 2& 698  ™~2) 68 12 af (1) 210 6 vears (2) 6to 12 years
(3) 4% 7 (4) 11815 7¢ (3) 410 7 years (4) 11to 15 years
3. e 4 8 9w 7 3 = 3. Out of the following which is fourth level
G T I e 'R of Taylor's level theory of creativity ?
(1) HEENE T (1) Expressive creativity
~{2) IEEH ERIGET (2) Productive ereativity
(3) AT TS {3) Innovative creativity
(4) Al geTEE (4} Inventive creativity
4. divET & e & smEn Prw of 4, According to Bronfrenbrener, law and
iy fam =% % &a offiefs o customs are examples of which of the
% T ¥ 7 following ecological system of child ?
“_} qﬁﬂ?ﬁﬁ [1} Micro system
(2) A= (2) Macro system
(3) = (3} Meso system
-{4) T (4) Exo system
5 gfg B 0F wR{ @ AR R, 5. A type of intelligence which is mostly
e, WO gy § o o #, visible in dancers, athletes, surgeons
| A ele., is known as what 7
(1) i 1) Bodily-kinesthetic intelligence
2) Hm 31? (2) Spatial ntelligence
(3 i ﬁﬁé-' (3} Logical-mathematical intelligence
: (4} Musical intelligence
(4) #a g

Level-2/4211 P.T.0,
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6. Preffan § A FrdEen W o 6. Out of the following which is #of the
T BT other name of Adolescence ?
(1) TFEe T temen & 49 (1) Transitional peried of childhood
Hfyra ' . and adulthood
(2) TR S (2) Problem age ,
~{3) HYs, I T Bl 1 amEen (3) Stage of stress, strain and storm
(4 gﬁﬁ S (4) Smart age
T. Pl o8 deed oRRiEe @ 7. Out of the following which activity/area
et ¥ mRosteits W 3 may mof be considered as co-scholastic
WA T8 B oo mEE 7 aspect of learner ?
(1) |=iE HeE (1) Social skill
(2) wffn od 5 (2) Attitude and values
(3) "o A (3) Creative skill
T g e (4) Curricular subjects
8. B 4 & fw w3 W oaa 8. Which of the following is mef an
7 8! clement of emotional intelligence 7
1) SEE T {1) Entreprencurial competence
(2) SmE-sReERn (2) Self-rnotivation
@) WEaR (3) Empathy
(4) W= B HelfE * (4) Handling relationships
9. =fe eEET o T fafy B 9. Direct method of personality adjustment
; 15 5
(1) e “§) Sublimation
(2) i (2) Projection
(3) W (3} Regression
(4) arar-FrET (4) Removing of hurdles
10. gl i sdmsmer # wow 10, The first :
' psychol
frd =0 o T 7 established ,__3_"3, whﬁﬁ“;“ laboratory was
(1) e (2) Fam (1) Galton (2) Cattel]
) W 4) 3R () Pestalozi (@) Wundt

Level-2/4211



12.

13.

14.

15.

1. el § A4 @ Bee s s

B0 OwE ud wdiRners amen” W@

Tasheen & gufor & 7

(1) T=F § ‘- wa a9 Ty
& g o=l Ber Rsitm

B
() 96 § dew & femm @ e
TN, s FEn e e

‘ﬂlmmﬁﬁwﬂmﬁmmﬁ
TETAT S wTen B

(4) s B & B weg 7 8
A 2T

ARE AEm % YEe S
Rrer=1" &1 T gefe o |

Q) @9t (2) 99 e
(3) o THo FAT (4) Bewa

o Fo de HWAM T T WEOE
FRA7

(1) I53

(2) =

(3) #4T ud S

&) FEA

‘i § e @ 99 % 9% Aier 3§
FHww & Wt B R aeen A
fasr & 7

(1) HEE-mE s

“2) T AT e

(3) T dEEE e

(4) @mafis wiEaers s

i R T B O 5
gt o & 1

(1) Wy

(2)

~3) uwm

(4) wwrrg fAaior
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12.

~41) Jean Piaget

13.

14.

15.
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11. Out of the following which alternative

shows characteristics of  "Concrete

Operational Stage" given by Jean Piaget 7

(1) Development of idea of ‘causc-
elfect rulatmmhn;:- and ‘object
permanence’ in children.

(2} The child gains understanding of
principles such as conservation
logical thought emerges.

(3) The child begins to represent the
world symbalically.

(4) Becomes capable of creating
several forms of logical thought,

Who proposed "Sociocultural Theory”
of cognitive development ?

(2) Lev Vygotsky
(3) 1.S.Bruner (4) Kohlberg

Who was the propounder of M. D. L
molivation formula 7

(1) McDougall
{2} Hilgard

{3) Blair and Jones
(4) Maslow

‘Out of sight ouwt of mind s
characteristic of which of the following
developmental stage 7

(1} Sensory-motor stage

(2) Pre operational stage

(3) Concrete operational stage
{4} Formal operational stage

Out of the following which is mor
related with 'Cognition' ?

(1) Perception

(2) Thinking

(3) Walking

(4) Concept formation

P.T.0.



16. fomft & =fwm & om Bam =
A P A el e R 7
(1) W T
(2) W9 i

) I (1) & (2)
(4) FoRE (1) ud (2) A el

7. Fefdies & & #Fw Rwm

Ao H wewm & o T

o 7

(1) s &9 & o AN Tl $
=R R HE

(2) AifaE =0 & wom el &

Al
(3) mrnters s = R
{4) HFRET TR

18. =(F 009 W TEO TH €

(1) it S
(@) T
(3) FHE=N

(4) =i @iy FAE

s @ 72 wen PR femf & o
Fiem AP 4 wE & 4 fRER W@
a0 frm & 9 dem & A

14

18]
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16. Asscasment of all-round development
of the child's personality is known as
which type of evaluation 7
(1) Continuous evaluation
(2) Comprehensive evaluation
(3) Above (1) and (2) both
(4) Ncither (1) nor (2) above

17, Out of the following alternative which

docs mot come under processes im
socialization ?

(1) lcarning to bechave in socially
approved ways

(2} playing approved social roles

(1) development of social aftitudes
{4) egocentric behaviour

18. Which is mof the cause of delinguency ?
(1) Physical defect
(1) Poverty
(3) Failure
(4} Proper home environment

19. A wpe of learning in which students try

to learm by emerging new mule through
piven leaming matenal, 13 known as
what ?

(1) Rote leaming

{2) Meaningful leaming

(3) Reception leaming

{4) Discovery learning

Characteristic of good adijusiment is :
{13 Tolerance

{2) Lack ol conlidence

(3) Emotional unstability

(4) lrregular life habit




—Ha:

21,

22,

23.

24.

w ot @z & ww A W gE 9=
a0 =, FTW, 9%, 5 R § AN
W O T 9= WA g A 9y’
= WHT % digd & F e o g

(1) warmeE W

‘g % g6 59 5 e J B 6
fmrd 3 #92, I9 B wWEe AT
A @A o ad o B A8 s
TH O WEW S g O %8
a7

(1) & e

(2) fem R

~£3) M HE

() fim =

‘ditferey wRE § At sy
T T g E WA s A 7
{1) 209 25 (2) 209 ird

(3) 25# 36 (4) 36d 51

i @0 g & B e oas @
gatr fRar mar a7

(1) Sl wEhs

{2) wEiiE Tl s

(3) TR AT AT

(4) T AFRE T

o g A gl REE TR
T R apafe w0 ) e § 7

(n AT R R
(3) TEEEETT  (4) HTEA
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21, A student learns new concepls such as

25.

'‘Carnivorous animal® on the basis of
words known by him such as tiger, dog,
lion, leopard cte. This type of learning
is known as what ?

(1) Combinational learning
(2) Subordinate learning
(3) Comelative leaming

(4) Superordinate leaming

"Children's understanding that their
gender will not change even if they
adopt the behaviour, dress, or hairstyles
of the other gender”. This type of
children's understanding is known as
what ?

(1) Gender identity

(2} Gender stability

(3} Gender consistency

{4) Gender stereotypes

What is the approximate LQ. range of
‘Mangolism® mentally retarded children ?

(1) 2010 25 (2) below 20
(3) 2510 36  (4) 361 51

Which word was used by Thurstone for
‘intelligence’ 7

{1} Primary Mental Abilities

{2} Universal Mental Abilities

(3) Neutral Mental Ahbilitics

(4) Higher Mental Abilities

"Incorporation of new information into
existing mental frame works" is known
as whit 7

(1) Assimilation {2) Accommodation
(3) Equilibrotion (4) Organisation

P.T.0.




| B]
26. - AN o 0eE T 6

W) e (2) wEEi
(3) S (4) S

s B & wames fEm %

FEE F AT G

(1) a8 frs § wrn-far & &9 W R
FHHN ®I

) 3 oaw e @ oofy B oo B
Tl mt)

(3) 98 &us frew g wov & uf of
U T A |

(4) o Tu it Rret & of ou
T =

4 28. FEmwl @ SER A Bwm @ o
U ogen REd @ @Rm e
[ e ® wE § oueRw @es
AeeeEl e Fr & aren s B
= AR A fA- e w= o R 7
(1) i & o T wY
) AR W R W
(3) AR T WS TR B
(4) v = T T =

Frefafem % A Frm owm W s
am o B 7

(1) srins farm g
(2) L]

(3) A qE sy
) e amgEs oy

Pt 8 @ 4R s g mf b 7

23,

18]

26,

28.

a0,
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wof the component ol

Which 15

maotivation ?

{1) Needs (2) Rote Memory
{3) Drives (4) Incentives

For the emotional development of his

pupil the teacher should ;

(1) Try o usurp the place of pupil’s
parcnis,

(2) Develop love and affection for his
pupil,

(3) Take a loveable attitude towards
the mischiel of the pupil.

(4) Show favours to few selected
pupils.

According to Kohlberg "a stape of
moral  development during which
individuals judge morality largely in
terms of existing social norms or rules”
15 known as which level of morality 7

(1) preconventional level of morality
(2) conventional level of morality

(3) postconventional level of morality
(4) unconventional level of morality

Out of the following which iz mor the
other nome of childhood ?

(1) Elementary school age
(2) Sman age

(3} Pre-gang age

(4} Gang age

Which of the following ;
mechanism ? £ 15 nof a defence

(3) Rattonalisation i

(1) aEmg (1} Identification
(2) witngff (2) Compensation
~1) alfeey s

Level-2/4211
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A= 11/ PART = |l
et (R4 & afih)/ LANGUAGES (HINDI & ENGLISH)

[ &=/ HINDI ]

A : it ot @ a7 3 7 A @ o Reer gRT)

31. UHE9T § Fgaoq 9 fagedl A TEHE
g

(1) S-Sl
(2) agay

™) -t
(4) -l

32. wifingism & e § aghm fww
gifen

(1) FEr-ge
2y AR
(1) G-
~4) Tril-mits
33, g Rew o w2 99w @1 e 78
T 7
~(]) T
(3} HEEE

(2) Fomef
(4) IR
14. 0 fiwem 4 Bol &0 = w5
BT E T
(1) firiems
(2) P
~43) frieEa

(4) oW

Level-2/4211

35. g g A ‘o ST @ AT g
g7
~{1) S
(2) amfrey
(3) ST
(4) amfira™

36. ariis sfie # sg= e g
(1) =amEl

(2) Wi

(3) T
T~{4) TOwE -

37. ‘wrqErn’ qen R g
(1) T @ weel g
(2) 7 & At e o 3
(3) WTTT & ST S96E SiEr T

) el T IR )

P.T.O.
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38, M # o § P A o :

39.

40.

41.

(1} ad-arm
(2) SAT-ET
™ tRew-afrrd
(4) EE-gA

e w0 A AR g - 9 A agE
Frm-Frsrer = 9% i i

(1) SREvErES
() FEEEE
(3) St
TH) ETTEE

frer & Fem Bomm § W 9= W
Festeira e Fe o & 7

(17 ™ # ‘HH g =)
(2) W I W WA
3) ‘= 8w W T

~d) T A & A b

'm#ﬂ?mﬂmﬁﬁ'_ﬁmﬁm
FIF & W k7

~{) FHETH
(2) HEa TS
(3) HWEF wWH

(@) @i %

43.

43.

mmﬁwﬂ@qgﬁ%?
M 1 e g Reve & @9 W@ 8
) zﬁf&mmﬁﬁﬁﬁmﬁh
@ gqamﬁqﬂ?ﬁﬁﬂlﬁﬁl

@ ¥ wrd ww & A SEs =eE 1
3 T

e @ gfte & oreTE [T Ey
(1) R + 39 = ReEniE

(2) 3T +7 =A=H

(3) g + oy =iy

) T + 5 = i

Fre armr
ﬂu‘ﬂgawr%?wmﬂg (o) 0. &

(1) T oFIT e i % ey om0 |

aila; Coll o

(3) ¥ & Wfew Ry e .
amfﬂ'ﬂ'ﬂfﬁﬁl TS

(4) ﬁmiﬁiﬁqﬁﬂ'ﬂﬁqﬁn
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[ 33 / ENGLISH |

Direction : Answer the foellowing questions by selecting the most appropriate i ion,

46. Choosc the most appropriate form of
Indireet speech for the given seatence.

The teacher said 1o Hari, "Why did yvou
not do your homework yesterday" 7

~4{1) The teacher asked Harl why had he

not done his homework  the
previous day 7

{2) The teacher asked Harl why he had

not done his  homework  the
previous day 7

(3) The teacher said 1o Hari why had

he not done their homework the
previous day 7

(4} The teacher said Han that he had

nol dene his  homework  the
previous day.

47. Choose the correct form of verh,

Did yvou not ................ about the
world Atlas,
{1} knew (2} known

~{3) know (4) knows

48. Choose the eorrect preposition.

I had not slept or caten anything
property ... iaie .. hwo days,
(1) since
TT—2) [rom
| (3) in
(4) for

Level-2/4211

49, Choose the correct passive construction
for the senlenee given,

We visited the zoo of Jaipur on last
Sunday.

(1) Zoo of Jaipur were visited by us on
lasl Sunday.

(2) On last Sunday the zoo of Jaipur
was visited by us.

(3) We were visited the 200 of Jaipur
on last Sunday.

{4) Zoo of Jaipur was being visited on
Sunday last by us.

50. TFill in the blank by choosing the correet
option,

The Headmasier and the Secretary
errereneseensr s PrEsent in the meeting.

(1) was (2} wers
(3) was being {4} were being

51. Choose the comrect synonym for the
word given below ;

Crallant
(1) Valiant (2} Impolite
“~{3) Rude ) PFearful

52. Cooking is his hobby.
The underlined word isused asa:
{1} Verb
W) Gerund
{3) Paniciple
{4) Infinitive

P.T.O.
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53. Choose the correct determiner. 57. Choose the correet modal.
rereasserassssss KNOWledge is a dangerous Some people ciiverasranees ski better than
thing. others.

| (1) must T9) can
(1) The kittle (3) could (4) should
(2) Little 58. Choose the correct option for the
' underlined word :
~3) A little
Chur parents have raised us to be a good
(#) The few citizen.
54. Choose the correct antenym for the “H) Broughtup
word given below
(2) Brought by
Bankrupt (3) Brough
rought out
(1) Penniless
4 B
) Insolvent - o Rt
(3) Ruined y 59. Choose the word which is spelt
(4) Solvent . correetly.

55. Fill in the blank with upprc;priate (1) Commited
preposition. | (2) Committed
I paid the bill ............. cash. (3) Comitteed ' p

™4) in (2) at .
(3) for (4) with {4} Committced

56. Choose the correct word for the 60. Fi“. in the blank with the correct
senlence. ¢plion
A man who 15 wo ish e halyi sseveiacaaon.. doing the cooking, 1 look

manish in his hahits, after the ey ng
(1) Arsonist (1} Beside
(2) Epicure \‘{2} However
3) Effeminate - (3) Besides
(4) Tealty {4) Therefore

Level-2/4211
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HATY 74+ / GENERAL STUDIES
[ TR A, afs sfemer oar G T @ SR / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]
3 : T A # ae 31 @ e A o A g

Direction : Answer the following quesiions by selecting the most appropriate oplion.

Level-2/4211

61. a1 DRIVER = 12, PEDESTRIAN = 20, 61. 1f DRIVER = 12, PEDESTRIAN = 20,
ACCIDENT= 16,8 CAR=7 ACCIDENT = 16, then CAR =7
(1) 3 (2) 6 (1 3 (2) 6
(3) 8 (4) 16 (3) 8 4) 16

62. A 9 B M B owm oW 15 A A 62. A and B together can do a work in 135
T TG B, Ee B oaden o8 20 RA days, if B alone can do that work in 20
¥ gErT &l B, A o%E 59 W W days. Then how many days will A take
P B F gag & 7 1o do same work alone 7
(1) &0 (2) 45 {1y 60 (2) 45
(3) 40 “x4) 30 (3) 40 (4) 30

63, TEE H 0% Uhw § afw A 8w j 63. Anil is standing at 16th position from
163 T W =g ¥ FEE ad 8 R the left end in a row of boys. Vikas is at
18% = W B T s d IR a 18th position from the right end. Gopal
1% =\ w2, &K BEE 4 ad e is 11th from Anil towards the right and
# A dwt mA ow B ogm o dim A 3rd from Vikas towards the right end.
P W% @R EU B 7 How many boys are standing in this

row T

(1) 41 (2) 42 (1) 41 (2) 42
(3) 48 (4) 49 (3) 48 (4) 49

g4, Fr=ifeitaa | dF-aTEgad g 7 64. Which of the following is a leap year ?
(1) 1800 (2) 1900 (1) 1800 (2) 1900
(3) 1700 T4y 2000 (3) 1700 (4} 2000

P.T. Q.
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65. il ®idias s A "go home” W "l

E6.

&67.

na" EE AW "sweel home" B "ma ja"
T AW 0 "Sweet ond Sour” EET "pa ag
jo" FE WG, @ "Sour” F WS BT T

{1} pa {2} sa

(3) padl =a (4) na

3 =i e ey 8 SR v
% B o o R o = oo
Rem & 3 Bl o gau =fe o Rw
H 6 Bl @ gl o w0 arame ae
9gE A §, o A o § o9 A
w20 T B 7

(L) 10 & (2) 12 Fit
~(3) 14 [ (4) 15 &
7:20 e woudt @ 2R g A 9
s & @ B ol @ B gq 7
(1) 160° (2) 100°

(3) 260° —4) 120°

B R e 3 osEw ow wd e
e B 7

&G ¢

(A) Tt m W2 B

(B) %8 w3 el ¥

fresy

(1) &8 o amand #|

(2) %8 gt =% el ¥
(3) #E qmen o= T B
(4) T8 7F W 1

Level-2/4211
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B3.

6.

67.

G8.

i

In a certain code language "go home™ is
wrilten a5 "ta na", "sweet home” is
writlen as "na ja®, "Sweet and Sour” is
wrilten as “pa sa ja", then how "Sour” is
coded as ?
(1) pa

(1) paor sa

2] sa
(4) na

Two persons depart from their office
towards their houses. First person goes
B Km in north dircction and second
person goes 6 Km in East direction and
reach their houses, find out the direct
distance of their Houses ?

(1) 10 Km (2) 12 Km
(3) 14 Km (4) 15 Km

What will be the angle between minute
end and hour end in a Clock at 7 : 20 7

{1y 160° (2) 100°
(1) 260° (4 120°

Which is the correct conclusion based
on given statements 7

Statement ;

(A) All leaves are roots,

(B) Some roots are branches,
Conclusion

(1) Some leaves are branches.

~J2) Some branches are not roots.
(3) Mo branch is leaf,

(4) Some roots are leaves,
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69. Fr1 Ammn & g &t :

70.

T

7.

73.

74,

WL, 5G, P), LN, 1§, ?
() FX
(4) EX

Pt Al § oy oy s wifeng

(1) FZ
(3) EY

DHL, PTX, BFY, ....
(1) CGK (2) KOS
(3) NRV (4) OVZ

UF T % aFwE 8,500 8, 9
gt 5 20%m 3fE B i.;ﬂ:\’ L
25% gfE B, @ @ CI 4
e feoe e ?

(1) 10,950 (2) 12,750
(3) 11,950 (4) 12,550

e
Lk
g

18,000 99 97 2 99 & 0% s 3T
H THgta o 7 AN SR W ST

= B 7
(1) 15057 (2) 180 599
{3) 210 597 (4) 316 59

14,500 ¥98 AN =T 9 6 ai
zl.dgu?mﬁé‘lmﬁﬂ, = Ot
g b

i
T

(1) 4% (2} 10%
(3) 6% (4) 8%
% L d w20

qret, 21 et g 29 We] B, g A0 W
15 Tl uftpr) dieT 1 27 8 Sog e
& o w7

(1) 2,000 599
(3) 3,150 %99

(2) 1,890 %98
(4) 2,500 %74

Level-2/4211
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74,

[ B
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Complete the following Series ;

WE, SG, PJ,LN, IS, 7
i F7 ~2) FX
(1) EY (4) EX

Find the next term of the following

letler series :

DHL, PTX, BFJ, .....
(1) CGK “2) KOS
(3) NRY (4) OVEZ

The population of a town is 8,500, In
first year it was increased by 20% and

in second year again increased by 23%,
then what is the total population after
two years 7

(1) 10,950 (2y 12,750
}3} 11,950 (4) 12,550
What is the difference between

Compound interest and Simple intercst
on the amount of Rs. 18,000 in 2 years
with the rate of 10% per year ¥

(1) Rs. 150 (2) Rs. 180
(3) Rs.210  ™4) Rs.316

The total amount of Rs. 14,500 with
simple interest in & yeors i3 Rs. 21,460,
find out the Rate of interest per annum 7

) 4% (2 10%
(3) 6% (4) 8%

The sides of a triangular farm are 20 m,
21 m and 29 m respectively. How much
will be total expenses for cutting the crop
al the rate of Bs. 15 per square meter ?
(1) Rs. 2,100 {2) Rs. 1,890

(#) Rs. 3,150  (4) Rs.2.500

P.T.O.
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layers in'a cricket
A, 6 Ftwmza AT ™ 75. Average runs of 6 p
" Tmﬁi;ﬁ; ETFI Hﬁ'.?’lﬂ uF el match was 36, If one player made 16

16 T T @, @ o feEa 8

runs, then what is the average runs of
Sirea T e el B 7

remaining players 7

(1) 24 (2) 30 (1) 24 ~{2) 30
(3} 36 (4) 40 (3) 36 (4) 40

6. Weffen dam & o &t

76. Complete the following series
24, 60, 120, 210, 7

24, 60, 120, 210, ?

1) 236 2) 270 (1) 336 ) 270
(3) 512 (41 300 (3) 512 (4) 500

7. UF o9 T U5 § & O9 @ 77. The ratio of speeds, of a Bus and Car is
6 : 78 AW w4 A HF 35 il

6 : 7. If car covers 364 Km distance in

UG A R T 4 hours, what is the speed of Bus 7

(1) 60fRiE  (2) 72 Fplinie

(1) 60 Kmmh (2) 72 Km'h
(3) AT (4) 4Rl

£3) 78 Kmih (4) 84 Km'h

?aﬁﬁﬂiﬁ?ﬁwﬁﬁmmﬁ

| 78,
UOBSH %81 @1, TIME F FNJU @a

In a code language GRANT iz written

as UOBSH, TIME is written as FNIU
&4, & PRIDE & 77 %21 sy 7 how is PRIDE written in that language 7
— 2) OOHCD 1) QSJEF (2) OQHCD
() FEISQ (43 TEMED (3) FEJSQ (4) TPMED
Ts.ﬁﬁwﬂﬁﬂmﬂ:SE,ﬂﬂiﬁH 79. Th:ruﬁuuf'nwnumh:rsa:eéi;imd
A 20 ¥ A om HAT the addition of those numbers is 240,
g 7 what is the difference of those numbers 7
(1) 60 . {(2) 100 (1y &0 . ~(2) 100
(3) 120 (4) 90 (3) 120 (4) 90
B0. Tl dem & 60% a1 3/5 oy 36 & @ B0. W¥50f 60% of a Number is 36, then
HEA WA oA P the value of the number 5 -
(1) a0 (2) 109 (1) 60 (2) 100
(3) 120 (4} 150 (3) 120 (4) 150

Level-2/4211
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B1.

r

84.

B5.

gﬁmﬁa‘ﬂmﬁﬁﬁﬁaﬂt?

(1) 3% =g

~2) AT

() T

(4) Farad
Eﬁﬂl‘rﬂiﬂiﬁﬂﬂ%:

(1) =1 71

(2) ofimd g

(3) F=m

{4) 9

gag fig 3 W09 & Fes =@ Rds
R & ?

(1) TS (2) g
~@) e (4) faT

A T s R T

(1) Tigem

(2) #HeH
(3) T
{4) T

groen & ‘48 e e et
& AT TEHHST T 8 7

(1) g Tl

- T~y wrd

(3) TN A
(4) B TEEE

Level-2/4211
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a1.

B2.

a3.

a4.

|B]

Gurugram is rclated 1o which ancient
Guru 7

(1) Ved Vyas

(2) Dronacharya

(3) Parashuram

(4) Kripacharya

State animal of Haryana is:

~{1) Black buck

(2} Asiatic Lion
(3) Chinkara
(4) Tiger

Where Pratap Singh revolied against the
Britizh 7

i 1]; Raohtak (2} Jind

(3) Ambala (4) Sirsa

Where is the Natiomal Cancer Institute
situated 7

(1) Sampla
(2) Meham
(3) Bads=a

(4) Kalanour

Who is the brand ambassador of 'Reti
Bachao-Beti
Haryana ?

Padhao Campaign' in
(1) Anu Kumari

{2) Sakshi Malik

(3) Kalpna Chawala

(4) Saina Nchwal

P.T.0.
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[ B] [18]
e6. Prer A TE¥ T % W WA e 7 a6 The district which does mef Share
w6 boundary with other states 15
(1) 9 (1) Panipat
~2) EnE (2) Rohtak
(3) e (3) Rewari
(4) ST (4) Palwal
B7. TE W EEOT oW o9 WY. & ueE 87. ‘The river, which makes border between
wr g B Haryana and Uttar Pradesh :
(1) @ (1) Yamuna
(2) W (2) Ganga
~3) W (3) Sahibi
{4} AHS {4) Markanda
88. HEA T Wi R 88. Sochnatown is famous for :
~H) Uelhs 99 3 fm (1) Historical Lake
(2) Ufmiees sew & R (2) Historical Palace
(3) ™ W F W & R (3) Hot water Springs
(4) Tl § F {4) Gardens
8. %ulh? TR B s e (g 89. How many Administrative divisions aré
there in Haryana ?
;:; :n: 1:241 ﬁ (1) Four () Five
; S (3) Six (4) Seven
90. BREEN T ogwET, o YT :
5 R T - TI'@?L CE] 90. The city of Haryana, which iz nof part
of National Capita) Region :
(1) goum (1) Gurugram '
(2 (2) Sonipat
'i} ﬁmﬁﬂm (3) Faridabad
= _(4) Hisar
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[B]

qT-1V/ PART = IV

f4= / SCIENCE
FaSr : (i gel & o 87 2 fre g afem R g

Direction : Answer the following questions by selecting the most appropriate option.

9. wmE § § R owm ghe
T & WO e d & 7

(1) e (2) g
(3) #FA (4) FEEEA
g2, Frfes § & fe o0 ® @5 %
T WHEW &7 ¥ 7
(1) @ (2) =T
3) FET  (4) T

83. ug e FrEEr EEHW 20 kg #, &
Wodrem s ag P =137+ 4
=y # oftEfid & B, o P oawr g, S0
aEE A ¥ mma e @ oy s
ik
(1) Fma & &

(2) oftafda @@ o
(3) Fma = @
(4) oftafde @ &

94. A # e # R
(1) 7 3¢ 9T =T ¥ 7 FE e

B B
(2) = TES B wEE W W §
(3) T A 98 =, wgw B B
(@) 9% TEd § 9y wEE T
o &

95, w3 U Foew (LgW) & w9%, T W
Bs ¥ VT ol B, 79 6
f]}ﬂmmaﬁﬂmﬁﬂm

(4) TN STRR a FE O
amafir & AW B

Level-2/4211

81, Which of the following is sof used as
artificial sweetner 7

1) Aspartame ¥2) Sucrolose
(3) Saccharin  (4) Norethindrone

92. In which of the following planis root is
the food storage organ 7
(1) Potato (2) Onion
~{3) Sweet Potato (4) Ginger

93. The linear momentum of a sphere of

mass of 2.0 kg varies with time ¢ as

" p=3F + 4, where P and ¢ are in SL.
units. It follows that the sphere moving
witha:
(1) Constant acceleration
(2) Variable acceleration
(3) Constant speed

~{4) Variable speed

94, In the weightlessness state, bodies :
(1) have mno weight, no inertia

(2) have weight, have inertia
~(3} have no weight, but posses inertia
(4) bave weight, but don't posses
inertia

95. When a Silk cloth is rubbed with a glass

rod, the rod :

(1) and the cloths acquires positive
charge.

(2) and the cloth acquires negative
charge.
~(3) becomes positive charged while the
cloth is negatively charged.
(4) becomes negative charged while
the cloth is positive charged.

P.T.O.
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[B]

g96. UF T & Ifws ww o T,
e fegfy Ov -
(1) & aftos oo @Te SO ar
]

[zjgﬁrwﬁmwaﬁﬁﬂm
(3) 1 e A e A 8

(4). 7 T e ST ot B E

. @it o 4 e & @ Ao Brods
e R ?
(1) UAG (2) UGG
(3) UGC (4) UAC

n U4 | WTN g I I T
oA

(a) m=4,1=1
(B) n=4,1=0
[c}) m=3.1=2
(d) n=3,1=1

T OEH WA SFE S & a3 B
e e

(1) (a)=<(e)=<(b) <(d)

(2) (c)=(d) < (b) <(a)

(3) d)=<(b)<(c)<(a)

(4) (B)=(d) < (a)<(c)

@ R wen & a3 S
GEC i

(1) 898 99 % @ 8% a7 %
FE il OE A A wEr ¥
(2) T WH FTOWEE F B wEw B
(3) FowE gelen A e & ol R
WA & i 9 sk o B

(4) FTIER T

Level-2/4211
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[20]

Fi
i’

86. In lincar simple harmonic motion of a
particle at mean position :

(1) velocity is  maximum and
acceleration is manimum
~72) velocity is  minimum  and

accelaration is maximum
(3} both velocity and acceleration are
minimum
(4) both velocity and acceleration are
maximum
97. Which one of the following
nonsense codon in universal code ?
¢} UAG (2) UGG
(3) UGC (1) UAC

The electrons identified by quantum
numbers # and { :

() n=4,]=1
(b) n=4,{=0
(c) n=3,1=2
(d) n=3,1=1

5 a

can be placed in order of increasing
Energy as :
(1) (a)=(e)<(®)=<(d)
(2) (e) <(d) < (b)<(a)
(3) (d) < (b) < (c) <(a)
) b <@ =<(@<ic)
98, Which option is correcr about the
specific heat of a gas 7

(1) It have any positive value from
zero o infinity.

(2) Tt may have negative value,

(3) Its exact value depends on mode of
heating of gas.

All of the above
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100.

101.

102,

103.

104,

105.

agr A w9 10 kw 9T
T &, A fRT s afeRa et A
uafde fmm o & 7

(1 0.168 (2) 032¢g

(3) 0.64g (4) 096

TeqfAs w5 o iR |

(1) Ao,

() Alyly . HaO

(3) Alz0y. 2H,0

(4) NayAlFg

& WY WA e A Seart, 0%
IrEAT B

(1) B9 o= # S

(2) #9 SmER & i

(3) 4T P waear fem

(4) 70t Foeem & oW &

=t D & arerg T = gEf #
g
(1) CHyCOOH > CeHOH > H,004
> HyO=> Colfy

CHCOOH = H OO0y = CgHsOH
> Oy > Ha0

CHCOOH > HCOy » CoHOH
= Hjﬂ?- 1:'1.”3

CBHS'I:'H - fH}C{.;fJH - Hz'[:ﬂj
= CaHa> Hal)

it & ey faee e ke
(1) dfemsie afd e

(2y @ FAL|
(3) = A BT
(4) TSR BT

FeCly % Y faems @ pIIE:FF-':

(2)
(3)

(4)

(1) 74 w9

) 7
(3 79 afis

(4) 14 7 oAt

Level-2/4211
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100.

101.

102,

103.

104.

105.

“H) 064

@)

[B]

How much mass is converled into
energy per day in Tarapur Muclear
Pawer Plant operated at 10° kW 7

(1) 0.16g (2) 032 ¢

(4) 096 g

The ore of aluminium 'bauxite’ is :

“H) Al

(2) Alay. HL0
(3) AlyCy. 28,0
(4) NayAIF;

Two light sources are zaid to be

coherent if they emit :

{13 light ef same intensity

(2) waves of same frequency

(3) waves having constantl
difference

“#) waves of same velocity

phase

. 'The cerrect order of acidic strength of

the following compound is :

(1) CHCOOH > CiHOH > HoCO4
s Ha= Cally

CHyCOOH > H,C0y > CalsOH
> Cala» HO

CHyCOOH > HyCOy > CoHs0H
> Hzﬂ:ﬁ 'CEH:

CE,.H'!I':'H o CHJCﬂﬂ'H = Hzfﬂ;
b= CZHI} Ha0

(2)

(%)

Osmoregulation in Amoeha takes place
by:

™1} Contractile Vacuole

(2) Food Vacuole
(3) Plasma gel
(4) Plasmalemma

The pH of an aqueous solution of FeCly
will be :

(1) lessthan 7 (2) 7

“43) morethan7 (4) more than 14

P.T.O.
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106, UF 3 £ oz & I B TEE A
B e TR 1% 3% W

Rar ¥ : 8@ & B o= 0.00002/°C

(1) 100K (2) 1000°C
(3) 500K (4) 500°C
107. Siem & o S
L1 Preeetr 3t oy

Tk
Gy it (@) TR AEEEE 9§ R
JHEE W S
() ST (b) W WA

AL R

(iif) T () () APEEE R W
Yol R AT

(iv)y Foim (d) 0w w8 ¥ CO o B
& HY AEEE W
AT
() G (i) ()

M@ ® © (@

(2) (& @) (& m

(3 @ © (@ (B

@M @ (& (4

%ﬁ*ﬁ W HTeq Ted BT e
(1) S

108.

108,

(1) CH3.CH,.C!

(2) CHy=CH.CI

(3) CH31.CH,.CH,.CI

(4) CH; =CH.CH,.Cl
Level-2/4211
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106. How much should the 'Il:rI‘I]:I'EI'EIII:ITE of a
brass rod be increased so as 1o increase
its length by 1% 7
Given : for brass & = 0.00002/°C

(1) 1000K  (2) 1000°C
@) 500K () 500°C
107. Match the column :
Meial Common method of
evtraction

(i} Aluminium (a) Electrolysis of oxide
dissolved in  maolten
cryalite

(i) Trom (b} Roasting followed by
reduction with coke

(iii) Copper () Roasting of sulphide

. partially and reduction

{iv) Zinc (d) Reduction of the oxide
with CO and coke in
blast fumace

() Gi) (i) (iv)

(1) (@) () (e} (d)
TB ) (@ () (L)
(3) @ (& (& (b
(4} ) () (e) (D)
108. Metazoan  without

organization are called -
(1) Prowszoa

(2) Pararoa

(3} Deuterostomia
™4) Eumetazoa

tissue  grade

109. Which of the following halide is most
reactive 7

™ CHs.CH,.Cl
(2} CH; =CH.Q
(3) CH, 'EHE-CHz Cl
(4) CH, =CH.CH, I




110.

111

112.

113.

M= 4 A HBe & e
T

(1) 1-3 25 @ gt e
(2) e 2=

(3) e 1-=gE

(4) e 2-=EA

A wEE gEsd R e 9T T
W R & v ¥ A wd oW
GH-gHE | sHE 91 & 4 daw ow

Foeml B A9 B E, af e or oRemd
T 4 5 g == 7

(1) B2 () 28

(3) B/J2 (4) J2B

P | UETEl o A JEEEe
= ur Fd e B

(1) T foemEs & e g

(2) T armeiE & e
(3) #w= ufteaioat § 3 e

{(4) TEF T BT fae s

Bfffﬁfﬂ-TEIT mﬂﬂq + .HIECID,I L e
— MnO; +C0s 4. & HEH #
KMnO, & g a0 &
[KMny =1 374 = 158 |
(2) 52.66
(4) 39.50

(1) 158
(3) 22.57

Level-2/4211
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Elimination of 1Br from 2-bromobutane

110.
results in the formation of :
(13 Fquimolar mixture of 1- and 2-butene
(2} Predominantly 2-butene
~(3) Predominantly |-bulene
(4) Predominantly 2-butyne
111, Two identical coils carry equal currents
and have a common center, but their
plancs are at right angles to each other.
What iz the magnitude of the resultant
magnetic field at the center, if field due
to one coil aloneis B?
(1) B2 q2) 28
3) B/2 (#) 2B
112. Chromatographic separation of
substances from a mixture depends on
the basis of ;
(1] Their solubilities in the same
solvent
(2} The difference in their volatilitizg
~{3) Their diffcrent colours under
similar conditions
(4) The different extent of their
adsorption by same material
113, With reference to the reaction KMnO,

+ HaCaOy + e = Mn03 + CO5 +....,
the equivalent weight of KMnO,
would be ;

[ Molar mass of KMnQ, =158 ]
(1) 158 +2) 52.66
(3) 22.57 (4) 39.50

P.T.O.
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NA. g gw Frag @ o B0 amm &

115.

116.

117.

118.

& da ¥ ) Bl W B O o
TR 100 mis & OH 500 OB WU g
T 150 wmis B TR R TR T ay
(0 + 1)F fFes d mu @ . Il o
e Bh

(1) 50 mis® a7 125 m

(2) 25 m/s? & 125 m

(3) 50 m/s® &7T 200 m

(4) 75 m/s® 3fT 200 'm

Rt Raew @ B e §
wrfeey e e § 7

() sreA (2) @A

() R=m (4) sEEFEy

e UF EHMH, U AT EEEE 6
fefr & # fat or aesmr o B, Tt
q x TEm oomew @ Tm B zEme
FEET fF W S B g9 W\
T T

(1 T:;;JE (2) T:zwlz__"
£ 2

(3) T=an (4) T:JEJE
28 g

TEEAFE 5 B 8

(1) e gay e &

(2) AT Uy T

(3) e geng SréE & _
(4) SAUAE TEY aEE A &

Uk wiE A Pl anafi 384 He §, @
W@ AL WA B F W Tepm o g
o 2dgEd o R g B o
T B w

(1) 382, 386
(3) 378, 390

(2) 381, 387
(4) 380, 384

Level-2/4211
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114,

115.

116.

117.

~{1) Zygotene

A particle starts from rest with a consian
acceleration. At a time ! second, the speed
- found to he 100 m/s and one second
later the speed becomes 150 m-'rs The
value of accelcration rn':r.iIh the dlstnnf:r;
travelled during the (¢ + 1) sccond will
he respectively

~{1) 50 m/s’ and 125 m

(2) 25m/s’ and 125 m
(37 50 m/s® and 200 m
(4) 75 m/s” and 200 m

In which siage are chromatids clearly
visible in meiosis 7
(2) Pachytenc

(3} Diplotene (4) Diakinesis

When a mass is hung from the lower of
a spring of negligible mass, an
extension x is produced in spring. The
mass 15 set inlo vertical oscillations
The time period of oscillation is :

(1) T=EHJE (2) T=EFJE

g g
33'T=1¢JE 4y T=fix|x
e L @ TeE [

Ribosomes are formed of »
{1) DNA and RNA

“{2) RMA and Protein

118.

(1) 382,386
£3) 378,390 -

(3} DNA and Protein
{d} H'.Hj‘-"._ -'l.nd AH‘I.iI'I_-u nnids

A tuning fork 4 of frequency 384 Hz
gives 6 beats in 2 second when sgunded

with - another tuning fark g, The
frequency of B could be o

(2) 3&1.35?
(4) 380, 384
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(1) g4 (2) B2
(3) 3pM (4) 4p/s

Frafofte & & f9-9 9B9 & arofes
G

(1} = (2) 99

(3) A (4) T

A fm T et @ wEma A Freiaiam
Fimte At & oWl aaldl e

T

120.

121.

(A) a9 (B) 77
(Cy T (D) =1
(E) F
(1) ECBDA  (2) EBCAD
(3) CBEAD  (4) CEBDA
122. @@ 4 & FEw & e 7 B
e il i ok

(a) Bler owraq, 1 T
(b) S9rGA 9T T T e, e

1 T g A

(c) F=1 oM, B FOET 0F AN
, I E Kl

(d) ¥4 TF FA

Pt @l B s 8 & e mel # 7

(1) (a)md (d) (2) (b)(e) 5= (d)
(3 bWy (4) (a) ™ (b)

Prep A A g o e e BT
(1) wglws | (2) Y

(3) (4) HE
Level-2/4211
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[B]

119. With what acceleration should a box

descend so that a block of mass M,

. placed in it exerts force mg/d on the
oor of the bax 7

(1) ) 82
(3) 3g/d (4) 4gf3
120. The true stem of which of the following
plant is underground 7
“§1) Banana (2) Bamboo
(3) Mint 4) Sugarcane
121. * Choose the correct descending sequence
of the following taxonomic categories
using the codes given below
{A) Genus (B} Order
(C) Class (D) Species
(E) Family
(1) ECBDA  (2) EBCAD
“3). CBEAD  (4) CEBDA
122. Read the following statements for the

formation of ionic bond :
(a) small cation, large anion
(b} low IP of cation, high EA of anion

fe) large cation, small anion and less
charge
(d) less lattice energy
Which of the following groups of
statements is carrect 7
) @and @) (2) (6), () and (d)
(3) (B)and () (4) (n)and ()
123.  Which of the following is mer a Fossil

Fuel ?
1) Natural Gas (2) Petrolium
(3) Coal (4) Wood
P.T.O.
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124. B 7 aat & § dm wlie i
weEy g !
(1) o% ¥4 (77r)
(2) uHh o £ 2 (LED) 79
(3) T FEAT AR
(4) T T

125. 2006 o%F A 98w A A I ) am
Em gE e & 9 sved 5 mEm ¥
fd B @ o & F g7 oam
A mrew o T R 2
(1) #&m (2)

(3) T8 4) 77 7 T 7

126. == o0t 4 8% aw 9T B R
alu—:rﬁ:

(1) Tl (1) Pt
(3} ' (4) Ematnh

127. ©REEEH g B o
(1) wehETEET T o
(2) U § 5
(3) wmReiE geE @

(4) TENETEEET &

128. T ST Toem Al ol R -
(1) C,mq d (2) ¢, ot §
(3) Com=qt & (4) CAM TS 3

129. w9 & o den o
(1) Enfrmifrmm
(2) i
(3) Frawrafom
{ﬂﬁﬁm&rﬁlﬁﬁﬁr.

130. i@l & of Rtz wE § shmdn
s & fon Freffae 4 @ gF-E
e W T e R 7
(1) TR (2) qoeeeh e
(3) TREH  (4) wFREE

Level-2/4211
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124, Which of the following sources gives
best monochromatic light 7
(1) A Bulb (ordinary}
t2) A LED Bulb

{3} A Mercury Tubc
{4) A Laser

125. Till 2006 there were Nine planets in the
solar system. Now their are only Eight
planets in the solar system, Qut of these
plancts, which planet is mof a member

of solar system now 7
{1) Uranus (2) Pluto
{3) Neptune {4} Mone of these

126. Term used for pallination which takes
place in closed flowers is :
(1) Allogamy +2) Cleistogamy
{3) Herkogamy .(4) Dichogamy
127. Phytochrome is related to -
(1) Photophosphorylation
~{) Pholoperiodism
(3) Climacteric effect
(4) Photorespiration
128, Kranz anatomy is observed in :
(1) ©; plants () C3 plants
) Cqplants “ha) A plants
129. The placenta in human is -
(1} Haemochorinl
(2} Epitheliochorial
(3} Syndesmochorial
~#4) Haemoendothelinl

130, Which of the following term is used far
the evolutionary history uf-a. particular
group ol organismy 7
(1) Palynology (2) Paleobotany
(3} Phylogeny w4y Ontogeny
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1. Fret B B Rl e aquedn 7
g7
(1) Poy” (2) soi-
{3} EF; [‘4'] .-!{-[-’Fq
132, P51 8§ & Tom dw & wgadt § ol
(312 1T 1T B 1 A
(1) SmmrET
(2) wAfE
(3)
(4) wesfeT=m
133, RfiEm Tom & W @ A
T T ¢
(1) 4,0,-1,172 (2) 4,1,0,172
: (3 4,0,0,1/22 (4 4,1,1,-112
134. B. 0. D. (@ Temte dfFiw @)
T ¢
(1) &S oo 3
(2) e S A
(3) ﬁmmmmmﬂ
@) T § & Bei a0 ad
135, deEiE @ wae St |, R
- darpd 3 @Y T e @ R
el § .

(1) ST
[2] «H":IH,'H‘I
(3)

(4) W -

136. UH vehe @ G o S oy w
F qour 1 it T AW TR W
2 wd oifw Eam B ORI R

(1) 4-dfm-a-EiE

(2) 2-ifre-3-d=iA

(3) 2-Mm-2-ae

(4) 3923w
Level-2/4211
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131. Which of the following does met have
tetrahedral structure 7
(1) PO;” (2) 507"
Q) BFy (4] XeFy

132. Which one of the following phylum
having animal with radial symmetry ?
¢1) Arthropoda
(2) Annelida
(3) Echinodermata

“~4) Platyhelminthes

133, The four quantum numbers of the
valence electron of potassium atom are :
(1) 4,0,-1,1/2 (2) 4,1,0,172

-3} 4,0,0,1/2 (4) 4,1,1,-112

134. B. 0. D. (Biological Oxygen Demand)
is connected with :
{1} Organic matter
{2) Microbes
‘\“ﬁ} Microbes and Organic matier
(4) Mone of the above

135. Development of gametophyte directly
from the vepetative eells of the

sporophyte without the formation of
spores is known as

(1) Apospory
(2) Apogamy
(3) Parthenogenesis
(4) Xcnia

136. An alkenc was treated with ozone and
the resulting compound on hydrolysis

gave 2-pentanone and ethanal. The
alkene is ;

(1} 4-methyl-d4-hexene
%2) E'H'Iﬂh}"l—ﬂnhemmu
(3} 2-propyl-2-butene
{(4) 3- methyl-2-hexene

P.T.O.
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137

138.

138.

140.

141.

' HaryanaJobs. T -

I 28]

B %2 0iE uen & O 09 RBes
v W R G 2 2.0 VT sl
n.msﬂ%nn#ﬁéﬁarghﬁnﬁ
St = B0 B
:;aﬁmmmﬁm:m

(1) 0.24 A (2) 0.72A
(3] 120 A (4) 140 A

P @ aEe R g e e & g
5 =ity wf
r,ﬁHj.l"ﬂ'H-i, F—ﬂrﬂzEﬁHqNHI,
I 1
m=NOYC H NH, p~CHYOC HyNH,
11 IV
(1) IW=1=1ll=>11
(2) W= =>11>1
(3) M>M>1>]Vv
(4) I=IV=1=1I1

TF 97 2 T SFEnE foo @41 bee H

: - = fﬂé |
TR A 3.5 A T 30 A Rom
o 1 AT g
(1) 1.25 (2 2.04 .

(3) 0.72 (4) 312

T, B il # wese
G B "
(1) =mm

el

(4) %% Firw fafy

T Fei g4 -

(a) PMMA o9 & S 3 o w59
i

(b) FHclaey
T TET-66 @ i

(c) 7rEA w5 Ihz =ges ¥
(d) Fwieer afee e qegaT & &)

(1) {a), (b) e (o) ekt &
(2) {a), (c) ™ (d) &dt &
(3) (b, (c) e (d) wrét %
(4) (a), (b) Wl (d) e %

Level-2/4211

137. Six lead acid type of SE:EDﬂljﬂll'}' cells
each of emf 2.0 V and interna
resistance 0.015 O are :unnec_tEd in
serics to provide a supply to & resistaneg
of 8.5 (. The value of current drawn
from supply will be :

(1) 0,24 A ~{2) 0.72 A
(3) L20A (4) 1.40 A

Arrange the following in the decreasing
order of their base strength :

CﬁH_;NH;. P= NQECﬁfqufl'i.

I 11
m ~ NOYCgH JNHy, p-CHyOCGH NH,
Il R

(N W>I=1>1

(2) W=MI>M>1
L) MI=N>1>1V

M) I=IV=T1>

138.

139. A metal crystallizes in 2 cubic phazes

fee and bee whose unit length arc 3.5 A

and 3.0 A respectively. The ratio of
their densities is :

~{1} 125 (2) 2.04
3) 0.72 (4) 1.12
190. Bacteria differs from mycoplasma in
having :

(1} Nucleoides

(2} Plasma membrane

(3} 70-8 ribosome
+4) Ripid cell wall

141, Ofthe following statements «

() PMMA s i 3
S used in making eye
(b)

Nylon-66 g manufa
caprolactum.

(e}

(d)

Nylon is the step growth pol
Vulcanisation St
Charles Gnnd}r:::q_s — v
“H) (a), (b) and (c) are correct
(@) (a), (c)and (d)ape coTrect
(3) (b), (c) and (d) are correct
(4) (a), (b) and (d) are correct

ctured by
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142,

143,

144,

145.

146,

147.

W B ow ot @ A m

:qaﬂqmmmﬂh:@aqﬁwai‘w

(1) 1807 -A (2) 180°-2A
(3) 180°=3A (&) 180°-4A

M= 5 A @R o @ g
7

(1) == =1 ery a7 02 & &Y
(2) T/ g9 q W@ F SEeEm W@
il w8 i e

(3) 9T T TTEE % U™

(4) W ety e #

ot Faw 9 B

(1) qoide (2) gedrdi
(31 Fmmgnd (4) THET

TH F oEEY, TEeE & e w3

Il A

(1} Fhm
(2) et F4
(3) TEEEEm
(4) TrEErEH

T T oY 10 Q oo
T P e L R, oF g B o

100 V, 50 Hz i %, & 2vhem 3§ 2
BT B 3R de A o & we s
w4 W B, 79 L 51 5 dpy

(1) LOBH  (2) 0318H
(3) 0.0787H  (4) 0787 H

Prefofa 3 § s o e g
7

(1} =T (we) (2 qe
3) ¥ (4) FerE

Level-2/4211

[29]

[B]

142, The refracting angle of a prism is A and
the refractive index is cot A/2 The
angle of minimum deviation is ;

(1) 180°-A (2] 180°-2A
~3) 180°-3A  (4) 18D°—4A

143. Which one of the following is an
example of Analogy ?
(1) Hand of man and leg of horse
(2} Testis in males and ovaries in
female develop from same
embryonic tissue
(3) Wings of birds and bat
(4) Mouth parts of honeybee and
housefly
144, All fungi are :
(1) Hn]mmphs“"[l} Saprotrophs
(3} Heterotrophs (4) Azotrophs
145. Acrosome of sperm is formed from
which part of spermatid ?
(1) Centrosome
~{2) Golgi body
(3) Mitochondria
(4) Ribosome
146, A '3'-1"3 of resistance 10 0, connected 10
an inductor of inductance L, is in series
with an source marked 100 V, S0 Hz. I

the phase angle between the voltage and
current is /4 radian. The value of L

will be :
(1) 0.0318 H (2) 0318H
() 0.0787 1 (4) 0,787 1

147, Which of

the following is mor a bast
fiber 7

(1) Coir (2) Jute
@) Hemp ) Py

P.T.0.
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148. UF I SO A

148,

HET o7 T 8 En
ﬁﬁﬁﬂmﬂﬁﬁﬁﬁnmﬁ’ﬂﬂw§|
% #\ ® FA ST AT A= B fy
e, &

(1) mfafe=m 41 & T wE=TE a8

|
(2) wRfr" S A T R 3
Eiuil

(3) wfefes mFmm =8 @m)
(4) nfefem =& deem 78 T3
e d & S e e ST A

T 3 & M o S T § oA
e 7

(1) 9079 SRR T A
(2) ama Tt o &
(3) = oo ao &

(4) +2 AT oEET W omoE
ZaA B

[30]

148. A convex Jens forms a real image of a

143.

point object placed on its principal axis.

If the upper hall of the lens is painted

hlack, then :

(1) the image
downwards.

will bc shifted

~£2} the image will be shifted upwards.

(3) the image will not be shifted.
(4) the intensity of image will not
change,

Which of the following statement is
correcd with respect to property of

elements in the carbon family with an
increase atomic number, their 7

{1) Atomic size decreases

(2) lonization of energy increases

(3) Meiallic character decreases

(4) Stability of +2 oxidation state
increases

150. ®EM & g1 B O gt ot o 150. Match List-1 and List-11 and choose the
oA A B Rl W e st correct answer from the codes given
78 T W g T below the lists :

@.l =1 List-1 List-I1
A NaOy == NO+NOy (i) kp=kp-(RT) A NyOy=NO+NOy () kp=ke(RT)
B. INHy™ Nga+3Hy () kp =kp(RT) B. INH3 =Ny +3Hy (i) ke =kp(RT)
C. 280, +0, 72505 (iii) ke = kp C. 2803 +0;%°250; (i) kp=kp
D. Ny 40,7 INO (i) kp = ke(RT)? D. Ny +0y= 2NO W kp = gprr)?
ge: Codes »
A B C D A B g B
M@ (v (i) i) (DG v i) i
(2) () @) (i (v @) G} 6D (i) (v
() (v) (@) @ () B) ) (i) (i) Gy
() Giy (v) (i) () W) G (v Gy
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